Crash Course Astronomy

Name:										

“The Milky Way: Crash Course Astronomy #37”

1.  The ‘town’ that we live in is called the _________________________________________________. 
 
2.  This ‘town’ is ____________________________________ light years across. 
 
3.  The word “Galaxy” came from a word that meant __________________________________. 
 
4.  The sun is about _______________________________ light years from the galactic center. 
 
5.  The spiral arms of the Milky Way aren’t structures, but rather _____________________________________. 
 
6.  Our sun takes about _______________________________________ years to complete an orbit of the galaxy. 
 
7.  The majority of star birth in the galaxy occurs in the _________________________________________. 
 
8.  Evidence indicates that there may be _______________ spiral arms. 
 
9.  The nuclear bulge at the center forms a bar of mostly _________________ color stars.  It is about _______________________ light years across.  In the very center is a ___________________________________ that is 4,000,000 solar masses. 
 
10.  Most of the globular clusters in the Milky Way can be found in the ________________________________. 

